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Political Science

Paper II

TSIIMEH
QoateRt 11

Note : This Paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

AT : A YU TR PO (100) SETAE A el oTRd. Uoieh WAl & (2)

Time Allowed : 120 Minutes]

O AR W WY Hrea.

[Maximum Marks : 200

1. 73rd and 74th constitutional

amendment deals with :

(A) Panchayati Raj System and

Urban Local Self Government
(B) Judicial Review
(C) Federalism
(D) Secularism

2. The following formula in the
constitution discusses language

issues :

(A) Nehru — Patel formula
(B) Munshi — Iyengar formula
(C) Gandhi — Irwin formula

(D) Ambedkar — Gandhi formula

735 MU 74T HAGER(A Tl
Teeten foar e

(A) TERE ST SHEET ST AR T
TS T

YN

(B) =A1faeh YAfdieteh

(C) HERTIEE
(D) wHfRUeT

el Jerd §Na TSIiasEeh Je

[EEIRE

(A) TBE — 9 g
(B) TR — SR 9
(C) el — smafeA &

(D) SfeISHT — TR A

[P.T.O.



Which of the following is not the
feature of Rule of Law ?

(A) Supremacy of law
(B) Independent judiciary

(C) Restrictions on the exercise of
discretionary power

(D) Dictatorial leadership

Eighth schedule of the constitution
includes the list of :

(A) Official religions
(B) Castes

(C) Ethnicities

(D) Official languages

Who presented the objectives
resolution in the Constituent
Assembly of India ?

(A) Mahatma Gandhi
(B) Sardar Patel

(C) B. R. Ambedkar
(D) Jawaharlal Nehru

Which of the following is not a
Directive Principle of State Policy ?

(A) Equitable redistribution of
resources

(B) Uniform Civil Code
(C) Panchayati Raj System
(D) Affirmative Action
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a N A NN N ~
LTATeTYehT ehUTd hTHET< ST Il shed-d

afere T ?

(A) FERIET Farad

(B) e WA

(C) T=iefiA SAfepr=a1 drae w1

(D) EHEME g

ST 3N TR qeietieh! I
IEl AE ?

(A) @rferpa o

(B) St

(C) dif¥ek e

(D) Afakd wren

TIAeTusht T IRATSAT ST A=
e Sta Atean ?

(A) HereHT et

(B) WER WA
(C) . IR. AEEH

(D) AR 88

A TcTUeh! ShIvTd TSTEE< ANICYih dw
qrEr ?

(A) HEIEAE THRRT Hidrey

(B) 9HM AT e

(C) Tt TS HaEe

(D) HHRHAE Tl




10.

Preamble of the Indian Constitution
is written in the nameof .............. of
India.

(A) dJudiciary

(B) People of India
(C) Legislature

(D) President

Lok Sabha, Rajya Sabha and
President are part of ................. of
India.

(A) Parliament

(B) dJudiciary

(C) Executive

(D) Panchayati Raj

Which of the following patterns of
representation is not provided for in
the Indian Constitution ?

(A) Teachers’ constituency
(B) Graduates constituency
(C) Nominated members

(D) Religious constituency

................ was the Speaker of 16th
Lok Sabha.

(A) Meera Kumar
(B) GMC Balyogi
(C) Sumitra Mahajan

(D) Nirmala Sitaraman

10.
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o [a

TRATAT Hee TdTfaehdld Seiierdeh]
Fre A fafeea TR

(A) &I FIEA

(B) WRd <k

(C) HEHES

(D) et

TAREAT, TSI ST [ § WRATS

(A) §&

(B) e

(C) wH& Heas
(D) =TT TS

EcileTyeh] ShIvcal Teur  Gfdffee

IR ¥eqq foaa =& ?
(A) e gagrRad

(B) USHIER HAGREH
(C) Wi g
(D) enfder AdeREH

................ T 16T AFITHT ALY
B

(A) U AR
(B) STuwdr srerart
(C) Tjﬁzﬁﬂ HISH

(D) e HrarmA

[P.T.O.



11.

12.

13.

Which of the following states was not
created in the year 2000 ?

(A) Chhattisgarh
(B) Mizoram

(C) Jharkhand
(D) Uttarakhand

Government of Maharashtra

appointed the following committee to

study regional imbalance :

(A) Vijay Kelkar Committee

(B) Anil Kakodkar Committee
(C) D. N. Dhanagare Committee

(D) Raghunath Mashelkar

Committee

Which of the following was the
initial ideology of the Bhartiya
Janata Party (BJP) ?

(A) Radical Humanism
(B) Fabian Socialism
(C) Gandhian Socialism

(D) Hindutva

11.

12.

13.
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TciTetieh! 10T T8 ¥ 2000 HeA Fafor
BRI IT
(A) BRHTS
(B) =i

(C) TREE

D) IES

HERISE AN WISfTeh STHAAET ST
FOAHEST Jeid Gl et

(A) T shoseht wfFed
(B) 31f7a1 hrehieen? Afydt
(C) T . ¥R wigdr

(D) TAY AR |l

AT S 9=t (9SY)  goardra

foaRERot hIvdr Bt ?

(A) AUl HFeER

(B) Wfsza qH=ERE
(C) TEgfora HHISIene

(D) fég=




14.

15.

16.

Civil Society Group that launched
campaign in Delhi in the year 2011
under the leadership of Anna Hajare
in 2011 1S .ccceeeeerrennnnn. .

(A) Narmada Bachao Andolan
(B) India Against Corruption
(C) Lokpal

(D) Delhi Against Corruption

Decentralisation of power to Rural
and Urban Local Self Government
Institutions is done through the

following schedules in the

Constitution :
(A) 10 and 11
(B) 11 and 12
(C) 6 and 8

(D) 9 and 10

Which of the following is not a
breakaway faction of the erstwhile
Janata Dal ?

(A) JD (U)
(B) RJD
(C) JD (S)
(D) BJS
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14. 2011 9t fooefa oToom g9k AT=a

15.

16.

TqCATEIE Seied STRIaH el g =
I TSRS Bl

(A) THST =9 ST

(B) sfedn = QM

(C) rehurd

[a) >

(D) oot T=E FIQH

TTHTOT ATTOT STEL Tefen WS TEAThe
o faehgietor se= Yeiat STIgaigan
;A TR :

(A) 10 amfor 11
(B) 11 emfor 12
(C) 6 =TT 8

D) 9 =1 10

WA IOl T84T ST SARA B
femeten T2 A ?

(A) SE ()
(B) TRIEN
(C) St (TH)
(D) sfeied

[P.T.O.



17.

18.

19.

20.

Political parties were mentioned in
the Constitution first by the ..............
Amendment.

(A) 42nd
(B) 52nd
(C) 73rd
(D) 86th

UPSC does not recruit candidates by
the following method :

(A) Direct Recruitment
(B) Deputation

(C) Transfer

(D) Promotion

National Human Rights Commission
(NHRC) was established in the
year ............. .

(A) 1993
(B) 1998
(C) 2003
(D) 2012

The idea of the basic structure of the
Constitution was discussed in the :

(A) S. R. Bommai Case

(B) Golak Nath Case

(C) Kesavananda Bharti Case
(D) Sajjan Singh Case

17.

18.

19.

20.
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TSTeh 1 Y& AT ToTeead Ufgeie]

(A) 428

(B) 52dt

(C) 734t

(D) 864t

HL AHAAT AT WeATeAdeh! v
TS R i ATE ?

(A) 92 wRet

(B) wfdfTgerit

(C) et

(D) =Tt

USSTA AR AT TUTH]

(A) 1993
(B) 1998
(C) 2003
(D) 2012

TS TR Sl 99l a1 @
EUTS

(A) TE. IR SEE Ted

(B) Tieih Y @l

(C) HIEFE R BrEel
(D) Toob a7 wea




21.

22.

Who among the following argued in
favour of and emphasized the need
to employ the concept of ecology ?

(A) John M. Gous
(B) Henri Fayol
(C) Max Weber

(D) Elton Mayo

Match the List I (Theories) with
List IT (Arguments) and select the
correct answer from the codes given
below :

List I
(Theories)
(@) Decision-making theory
(b) Scientific management theory
(¢) Human relations theory
(d) Rational choice theory
List 1I
(Arguments)

(1) producing organized knowledge
about worker and management

(2) participative management

(3) questions hegemony of
bureaucracy and views humans
as intelligent, self-interested

(4) involves three stage process of
intelligence, activity and choice
activity

Codes :

(@ b)) (@ (@
A Q) 2 1) @
B) 2 B @ @
O 1 @ 2 3
DO @ 1O 2 3

21.

22.
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TATAd®T HUN  GATITOTRITEATAT
GohoUad YIS hI0I=AT TSI 9
fgem ?

(A) SH wH. =Y

(B) T ®AA

(C) "9 dsr

(D) Ted HAl

ot 1 (Tagia) sufor 4wt 11 (Fferers)

IIEl ATIIRR ooUll hed Terd
HehdTehTl AR H&A g IR et .

I |
(fagia)
(@) Tofa frefo fagma
(b) IS Hawnua fagm
() wel gey fagia
d) faoet free fagma
Trer 11

QIESEI)
(1) wHH=R 3Tfor sHeReTTs Ireen e
Tufeq IE fEoT FHo
(2) HEUTT FoLqTaq

(3) SRR YAvTerared g9 e
F&d AT B gfgHd i wifed
TP SR IR W Il

4) 91, Fdl enfor faae wdl =@
fsrarea 9 o= GHEY Bl

TUriey

(@ B © @
Aa 3 @ @O @
B) 2 & @ @
©C @1 @ @ O3
D @ @O @ O3

[P.T.O.



23. Match List I (Authors) with List II

(Books) and select the correct answer

from the codes given below :

(@)
®)
(c)
(d)

(D

2)
3)

4)

List I
(Authors)
Chester I. Barnard

Peter Drucker
Fred Riggs
Dwight Waldo
List II
(Books)
The

Administration

Ecology of Public

The Functions of the Executive

Democracy, Bureaucracy and

Hypocrisy

The Frontiers of Management

Codes :

(A) (4)
(B) (2)
©) @)
D) (1)

(@) (®)
(2)
(4)
(4)

3)

(c)
3)
3)
(1)
(4)

(d)
(1)
(1)
3)
(2)
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23. AR 1 (oEeh) oo At I (J&eh)
I AT Hes BT Weiiel Hehdiehrd
R FHEA g W e .

(@)
®)
(c)
(d)

(1)
(2)
3)
(4)

RICi |
(TEh)
TR . SIS
e gt
e oS
A Aeel
et 11
(qeeh)
T< seriatsit st afscren stefufreem

ft weRmE iR TlReRIfess

- -
-
-

(A) 4)
(B) (2)
(C) @)
D) @D

(@ ) (© (@

2 G @

4) 3 @

4) @O O

3 @ @

10



24.

25.

Hawthorne experiments enhanced
the importance of :

(A) Formal organisation
(B) Informal organisation

(C) Scientific management of
organisation

(D) Work-wage parity
Give the correct answer by using the
codes given below :

Assertion (A) :

The systems approach is based on
the view that organization should be
studied as a whole because the
behaviour of one part has a
considerable impact on the other
parts.

Reason (R) :

The systems approach ignores the
actions between a system and its
environment.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

Both (A) and (R) are true but
(R) i the
explanation of (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

1S not correct

(C)
(D)

24.

25.
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Gtk hIMa Head BleH YAt
EIC [

(A) a=ier gee

(B) HIO=iieh Eeel

(C) Teed IMGT HaETIH

(D) hmE-ddq HHME

Eelel Fehdieh=l 91U hed AT I3

e .
fagam™ A)

AT ST AT AT G o<eh MG
e, A1 TIaRIe] Heen gfteshM eenia
3T, U] GEE=21 TehT WA ST
JIE TR TTEREl USd STl

T (R) :

ereell gfteehiam =Hereen enfur fa=
AR Al TER HAUhe gai& shal
e,

SO

(A) (A) g (R) & T8 WA=l s{Ia

A ST (R) ® (A) 9 sl
TR 3R

(B) (A) 371 (R) & Toa=Iqul sRJs 3ATad
07 (R) ® (A) = TqIhL0T e et

(C) (A) IR TR 3T (R) ek 318
(D) (A) I T 2 (R) SRR 3T

11

[P.T.O.



26.

27.

28.

Who among the following viewed all
of

cooperation of human activity and

organizations as systems

proposed the theory of “contribution-
satisfaction-equilibrium” as the basis
for individual contribution to

organization ?

(A) F. W. Taylor

(B) Chester I. Bernard

(C) L. Urwick

(D) L. D. White

The origin of public choice approach

is generally credited to the works
of :

(A) Duncan Black

(B) William Riker

(C) Mansur Olsen

(D) Anthony Downs

Which one of the following essays

is regarded as founding essays of
Public Administration ?

(A) Management Throughout

History
(B)
(®)

Ethics and the Public Service

Research in Public

Administration

(D) The Study of Administration

26.

27.

28.

JUN - 15220/I1—D

WeAedeh! hIvT ol BUN, ‘HHd)]
HHEMAT FeehmE=l el 7 "ied' 9

TEEAE U 8 SR AneE ! 3THdl
3T WA * AEH- -S| 71 fagia
e ?

(A) ThH S=g. T

(B) 9= 9. 9IS

(C) T Sfd®

(D) T El. =E

[ o o o ~ -
dlestiaen [Has glbeeniql=l siHI- D)

Eeierieh! shivme faemme s ?
(A) S i

(B) faeaq ft

(C) "R 3o

(D) sferft ==y

Treie fearet s ey -

RIEATE grenyd ey gusen S ?

(A) SfeMNe SerEarH

(B) fifqeme aqfor crendan

(C) TR HeNe

(D) 9IMEATET A

12



29.

30.

Who defined administration as
domination or exercise of authority
while most others defined it as
service or performance of duty ?

(A) Claus Offe
(B) Karl Marx
(C) Robert Michels
(D) Max Weber

Match List I (Theorists) with List IT
(Theories) and select the correct
answer from the codes given below :

List I
(Theorists)
Elton Mayo
F. W. Taylor
Henri Fayol

(a)
®)
(c)
(d) Herbert Simon
List 1I
(Theories)
(1) Scientific Management theory
(2)
3)
4)
Codes :
(@)
A) (D)
(B) (1)
C) 3)
(D) 4)

Decision-making theory
Neo-classical theory

Administrative theory

)
3)
4)
(1)
(2)

(c)
(2)
3)
4)
3)

(d)
(4)
(2)
(2)
(1)

29.

30.
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TR U e fohan TR TSt
I W0 Har forar shaeadre e™
wed IR ?

(A) FAS 3T

(B) wrel e

(C) Ve fh=eq

(D) e AR

et 1 (Tagiaen) sufor =t 11 (fasia)
T AEYRR JoUl wEA et
HehdeTdl AT & A S| faer ¢

rat 1

(Fgiaen)
Teed 7
(b) Th S&Y, N
€ T A
(d) T FEEA

RIC |

(fagia)
SHALAYATEl M THSId
frofar faufor fagia
(8) & eAfisma fagia
(4) wmEsE fag
Hehdieh :

(@)

A (1)
(B) (1)
) 3
D) 4)

(@)

(1)
2)

®)
3)
(4)
(1)
(2)

(c)
2)
3)
4)
3)

(d)
4)
(2)
(2)
(1)

13

[P.T.O.



31.

32.

33.

The National Institution for
Transforming India (NITI) Aayog
1s :

(A) a statutory body

(B) an executive body
(C) a constitutional body
(D) an advisory body

Which one of the following
indicators is identified by the United
Nations as the governance indicator
for sustainable development ?

(A) Drinking water
(B) Corruption

(C) Literacy

(D) Mortality

Judiciary ensures accountability of
administration through :

(@) Curbing arbitrariness of

administrative agencies

(b) Safeguarding the rights and

liberty of the citizens
(c)

Declaring ultra vires the acts of
administration if they exceed
their jurisdiction

Codes :

(A) (a) and (c)

(B) (a) and (b)
(C) (a), (b) and (c)
(D) (b) and (c)

31.

32.

33.
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T e ST B IHIHIT Srea
(<) oM & T
(A) FEEICHS FEAl
(B) SRR Heer
(C) AT Gl

(D) IR T

a o N A NN . LN
Eeitel TG ereRTteh! oA e o]
ST RS ATkl faereh oM
= sl o ?

(A) TF 5
(B) YR
(C) wn&ran

(D) A

ghfraa =

(@) FIMERE ATTRIOT=A HAAHIE
L PEHII L

(b) TR TaFh STV AT Gexd
CET

(c) S I A= hrdehall Seisal @

TRITEERE el SR e ST )
Hehdleh :
(A) (@) =0 (c)
(B) (a) 3T (b)
(©) (@), (b) =0 (c)
(D) (b) ST (c)

14
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34. Which one of the following is not a | 34. VAW ARITETETIA <1 =M=
means of popular control over public Wefe R TH FGEE A 2
administration in India ?

(A) Election (&) T

(B) Public hearings (B) = e
(C) Public opinion (C) SHd

(D) Financial audit (D) oTfYie 3fehero

35. Legislative control over Indian | 35. YRAKA THIIMEAEIA HEACHSH™
public administration is in form of : fgsor g o = ®IG 3.
(A) External control (A) e s
(B) Internal control (B) A =
(C) Popular control (C) s s
(D) Direct control (D) werer frerrmr

36. National Rural Health Mission | 36. S I SR AT o7 SAor
(2005) is mandated to strengthen ST QI Frasfiqeh T
public health systems in the States FELYY FBFhe] U HH HI Dl
and Union Territories by : ST ?

(@) augmentation of health (@) oW fawas g gfae e
infrastructure . .
(b) HFEl HHYA IieTa HEd

(b) increasing human resources
(c) mainstreaming of AYUSH © T(?TSH)WWWW
(d) providing mobile medical units (le) l.lh{d SERIT Heh Qe
Codes : Henden
(A) (@ and (b) (&) (@) 3 b)
(B) (¢) and (@) B) (e) = (d)
(C) () and (@) () @) s (d)
(D) (a), (b), (c) and (d) D) (a), (b), (c) M (d)

15 [P.T.O.



37. The Right to Free and Compulsory

38.

Education Policy of 2009 does not

provide for :

(A) Non-justiciable right to all
children between the ages of

6-14 years

(B)

Free and compulsory education

(C) Education of equitable quality

(D) Maintaining pupil teacher ratio

norms and standards

Credit linked subsidy for

economically weaker section on the

housing loans is provided under :

(A) Indira Awas Yojna

(B) Pradhan Mantri Awas Yojna

(C) Rajiv Awas Yojna

(D) Atal Mission

JUN - 15220/I1—D

37. ¥ 2009 = HF STfvr Afvared et

38.

RO B AHRR Y HAd AT

(A) T& T Fe JARee Td ol 55k

- 3T
(B) 9 ity eifamed fereon
(C) Togom=ft o= T[urer

(D) fo=neft fereren TUIRRIST Hafea s

O AR 9T &)

TehSlioR 3T Toles FHMIS]

(A) sfeq AemE IS

(B) 9YM HA STE AST

(C) TSTa 3Tard ST

(D) 372 ANEH

16



39.

Issues and challenges of
participatory development paradigm

in India are :

(@) Poor development governance

(b) Poor involvement of civil society
organisations in the
development process

(c) Effective democratic
decentralization

Codes :

(A) (a), (b) and (c)
(B) (b) and (¢)
(C) (@) and (b)
(D) (a) and (c)

39.

JUN - 15220/I1—D

AT FEHIRTaT forerrer=an JedufaarT
T g oTfor @M emed

(@) HHGAd TR MR

®)

foerT Ufshad T SIS TeeA=

T 9IER]
() TWEl AIhIE]
Hehdich :
(A) (a), (b) A (c)

o MY

[Aeh len U]

(B) (b) = (c)
(©) (a) =70 (b)
(D) (a) T ()

40. E-governance is an instrument of | 40. YI&ehdl Hieq L0 3Tl § T
achieving good governance because T M FR TS
it :
(@) improves efficiency and (@ ST '{{,ﬂ'l’@f
economy (b) ARSI IATITEETo JfegTa
(b) enhances citizens government Ba
interface
: - : (¢) fFroE-fraRer gord
(c) improves decision-making
(d) increases transparency in (d) AT TS TRETIhal aTed
government operations Hehdish :
Codes :
(A) (@) 0T (b)
(A) (a) and (b) ot
(B) (b) and (c¢) B ©) ©
(C) (¢) and (d) () (o) = (d)
(D) (@), (®), (c) and (d) D) (@), (b), (c) T (d)
17 [P.T.O.



41.

42.

43.

The idea of deconstruction is
associated with ................ .

(A) Jacques Derrida
(B) Saussure
(C) Heidegger
(D) Frankfurt School

Match List I with List II and select

the correct answer from the codes :
List I

(@) Freedom

®)

(c)

(d)

Toleration

Positive liberty

Negative liberty
List II

An essential pre-condition for
harmony and social stability

(D

(2)
3)
(4) Being one’s own master
Codes :

(@)
A )
(B) (2)
(C) 4)

Property of will
Minimal state

(®)
4)
(1)
2 @ @
M @O @ @2 @

Critical theory proposes
create ................ .

(c)
1)
4)

(d)
(2)
3)

to

(A) Egalitarian society
(B) Counter culture

(C) A level playing field

(D) Free market society

41.

42.

43.

JUN - 15220/I1—D

Tl THedHT
(A) S 2T
(B) WL
(C) BHESTR
(D) Hhehe THa

IR 1 At 11 3ft S emfor @t

Heharhlqd Ard W e

RICU |

@A

J .
qHRIHE WA
ThRIHS WA

Trer 11

TARa 0T QrTfTeh R SAevTeh
o 3
ool TOTEH
(3) HHM FHH T4
(4) Tdd WA Hieloh
Tehdiah :

(@)
A) 3)
(B) 2
© @ 2 G @
O @1 B @ @
STehTaat fagTam=an &g =t i
FHO 7 I

(A) FHAERT THS

(B) wfaeeehet
(C) THM Hefrer &

(D) Teil JNRUS STHAA FHS

(@)
)
(c)
(d)

(1)

2)

(b)
(4)
(1)

(c)
1)
4)

(d)
(2)
3)

18



44. According to Habermas, modern

45.

46.

capitalists systems have a tendency
to develop one of the following

identity :

(A) Legitimation deficit
(B) Democratic deficit

(C) Consensus deficit

(D) Communication deficit

The philosophy of natural rights had

depended on :

(A) Ethical theory

(B) Political self-consciousness
(C) Authority rationalism

(D) Revolutionary era

A well known feminist slogan is that,

the personal is :
(A) Liberating
(B) Unacceptable
(C) Political

(D) Conflictual

JUN - 15220/I1—D

44, FIEIESAT WA, MY iedesmgl

45.

46.

A WIelereh! Tehl Jgai=n foehm

FOTET Fadl IR A T AW

(A) AfHdET HHEl

(B) <eh3er=l shyaidn

(C) HeHd=! el

(D) AT HHA

T SRR TTo=TH HEMeR ST
?d ?

(A) Sfaw fagia

(B) USThIg T :SIT0Mg
(C) foderamrr=t ferEm
(D) hIfad Jor

N o [a o 1 ~ ~
Alen A9 AlAIQT =Ml el A A1V 3“%,

WS oS
(A) FETHH
(B) sTThRH
(C) TS
(D) foamETcHeh

19
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47. Match List I with List II and give

the correct answer from the codes :

(@)
)
(c)
(d)

(1)
(2)
3)

(4)

List I
(Equality)

Equal
Uniformity
Formal equality
Equality of outcomes

List II

(Related Ideas)

Eradicating special privileges
Most vital form of equality

Regimentation and social

engineering

Identical physical characteristics

Codes :

A) 3)
(B) 3)
C) @)

D) “)

(@ b)) © (@

4) 1) (@2

1 2 @

2 @ @

3 @O @

JUN - 15220/I1—D

47. It I AT 11 9 Jegan ST I I

Tl Hehdiehiqd el :

(@)
®)
(c)
(d)

(1)
2)
3)

(4)

I |

(F#am)

YU

siro=nfiar |Han

oA HAZ

et 11
(Haferd Hehed)
oo fefem

T Hecd | T T

HIR qSehig ¥R STforT |rHAThSIeh
AREISeR TR

THARE difqs e

- -
-
-

A) 3)
(B) 3)
C) @

D) )

(@ b)) © (@

4) 1) (@2

1 2 @

2 @ @

@) @O @

20



48.

49.

50.

‘Foundational equality’ means :

(A)

Being born equal and of equal

moral worth
(B) One person, one vote

(C) Having same chance to rise and

fall in society

(D) Equal opportunity to develop

unequal skills and abilities

Which one of the following political

ideologies has longer history ?
(A) Marxism

(B) Socialism

(C) Liberalism

(D) Feminism

For which one of the following
principles, Locke has been criticized

for not explaining adequately ?
(A) Property
(B) Consent
(C) Tolerance

(D) Rule of law

48.

49.

50.

JUN - 15220/I1—D

TEEY 9HAT WIS

(A) S=a: T A7 AT THa go

(B) Tk K Tk Hd

[a)

(C) THNIG THE ST o STl

et

(D) STHATT HITTEd ST &TAATAT
fomra= wAE Hel

QATerten! o TS faamRyoTeta

< sfoe e 2

(A) e

(B) HHNER

(C) SIRAER

(D) Hiarg

leh IeeTdeh! il aem™ A

TSR T0T Shel MRl STRTT aT=ATaRdT Siehl

HLOII 3T 2
(A) 9u=it
(B)

(C) Hfgsurar
(D) FECAE TG

21
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51.

52.

Which one of the following pairs is

not correctly matched ?

(A) Michel Foucault : Power as
capillary

(B) Karl Marx : Power as means of
exploitation

(C) Hannah Arendt : Power as
collective work

(D) Steven Lukes : Power as means

of repression

Give the correct answer using the

codes given below :

(@) Plato’s book ‘Republic’ deals

with Idealism

Plato’s book ‘Laws’ deals with

Realism

)

(¢c) Plato’s book ‘Republic’ deals

with Realism

(d) Plato’s book ‘Laws’ deals with

Idealism
Codes :
(A) (a)is correct but (b) is incorrect
(B) (b) is correct but (a) is incorrect
(C) (c) and (d) are correct

(D) (a) and (b) are correct

51.

52.

JUN - 15220/11—D
TCcdsh! IO SISl drd Jesel!
A& ?
(A) oo |l @ &THaT ®UN Eell

(B) wTct HEE : OO GIEA TS
e

(C) &1 32 : wHfesd &M =N

Hedl

(D) Eieed g : TSIUh ®US Hedl

el Tehdishlal SUAN HEd Sl
<Al e

(@) wRH Tl ¢ g SRRt
TefYd 3TR

I | M 0 ol | RS E TN
Tefd e

wierd ‘ Rdfecteh ' & J&ieh Sfearei
TEfd SR

@l ‘s’ § g STRienareit
Tefd e

PP

(A) (@) TR TR TG (b) b 3R
(B) (b) R E WG (o) I 3T
(C) (¢) =T (d) & SR 3R

(D) (@) A0 (b) SRR 3T

®)

(c)

(d)
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53.

54.

55.

Which of the following pairs is not
correct ?

(A) J.S. Mill — Modern Liberalism
(B) Aristotle — New Liberalism

(C) John Rawls — Theory of
Justice

(D) Mao Zedong — Socialist or
Class War Stage

Which of the following pairs is not
correct ?

(A) Hegel — Idea of Spirit
(B) Plato — Ideas or Forms

(C) Machiavelli Modern
Constitutionalism

(D) Mao — Real Will

Rawls’ principle of distributive
justice is based on the notion of :

(A) Desertion

(B) Difference principle
(C) Equality

(D) Entitlement

53.

54.

55.

JUN - 15220/I1—D

o = fa

TeiteTdehl HIOTA SISl SRIER Sod
E 2

(A) S.Tg. fga — sy IRAGER
(B) 3fiwiedt — 7d SERAGAR

(C) S Vew — =mEmn fasi

(D) # FASM — FANER fohar
CHREAL A

[al N [al ~ [al N aY N [aY
ClllciYeh nlVIdl Slls] oR[9X \fLon'H
qer ?

(A) T — Tageraa

(B) =&l — smafears fean widy
(Fhe)
(C) Hfehu=ell — eMfFeh =@

(D) AT — HcHehed

o I

feod ‘ famonee =’ § T Shive
Hhooier MEReA 318 ?

(A) &M

(B) ®ihE T

(C) F|rFa

(D) @Fh

56. The idea of social contract has been | 56. a9 TW&EUAT STMUR  HHISHR X
recently revived under a new form o=t stforehsial ST AT el ¢
by :

(A) T3
(A) Gramsci
(B) Rawls (B) )
(C) Oakshott (C) sAehRle
(D) Hannah Arendt (D) B e
23 [P.T.O.



57.

58.

59.

Who among the following favoured
qualification as the basis for right

to vote ?

(A) J. Bentham
(B) J. S. Mill
(C) T. H. Green
(D) E. Barker

The theory of social contract

primarily seeks ............. .

(A) to explore the historical origin

of the state

(B) to explain the basis of political

obligation
©)
(D)

to justify the status quo

to bring out a radical
transformation of society by

revolution

Who said, ‘the minimal state is the
most extensive state that can be
justified, any state more extensive

violates peoples rights’ ?
(A) Robert Nozick

(B) Hayek

(C) Michael Sandel

(D) John Rawls

57.

58.

59.

JUN - 15220/I1—D

ETeATeTdeh! T HAASHTA] SFhTES]

Ul B SR 3TEl 3™ AFel ?
(A) . d7

(B) W. wy. faw

(C) 9. T U

(D) g ST

(A) TSHEE=T 3TH INY
(B) TSThig SifUciehi= STR TS hI0]

(C) ‘S8 9 feod= waeq =0

(D) SHI=AT AR FHEIST ST TR

SR

HHT HH 5T &5 FHLT Hiar IR
HHT T 3T, ATUET SEh STk T
HAeRT=d R Sosd i, 38 faum
O A AR ?

(A) e ifereh

(B) B

(C) To=a H=a

D) i e
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60.

61.

62.

The idea of social contract has been
recently revived under a new form
by :

(A) Nozick

(B) Rawls

(C) Oakshott

(D) Gramsci

Find the incorrect statement :

(A) Sri Aurobindo was a

revolutionary leader

(B) Mahatma Gandhi’s Satyagraha
was meant also for heart

transformation of the opponent

(C)

Periyar promoted rationalism,

self-respect and women’s rights

the

composite

Savarkar
of

was

(D) V.D.
champion

nationalism

Who believed that the aggregate of
the four, body, mind, heart and soul

is the individual ?

(A) B. G. Tilak

(B) Rabindranath Tagore
(C) Deendayal Upadhyaya
(D) M. N. Roy

60.

61.

62.

JUN - 15220/I1—D

ARSI HTeold HTHTTSR  h LTI

fogiarel eaar T &I I

qESSifad shail 2
(A) iferh

(B) |

(C) eAfenzme

(D) TTHEM
Wetedss! 3Eg faum fieen .

(A) it srfecl ® wifderrd 9d B

(B) WETHT M= ARl SeR v

~

foigrenTe &g aRadd @@l Bl

(C) UfEH fodsarg, wnfymm sufir
o= ok A= QR shall
(D) fa. 3. TR § Ay TeaRr

TEHRG B

el TUNSI YRR, HA, §SA S0 3TeH
I H=AA 318, 39 FIV Tl 3§ ?

(A) fa. sft. fooen
(B) Ifegmy 2R
(C) feieama 3urea™

D) TH. W. 1T

25
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63.

64.

According to Deendayal Upadhyaya
which are four elements of nation ?

(A) People who treat their country
as mother, Common History,
Common Language, Dharma

Desire to live together,
Motherland, Common heritage,
Common language

(B)

(C) People who treat their country
as mother, Desire to live
together, Dharma, Ideal and

Values of life

Desire to live together, Common
language, Common History,
Dharma

(D)

Match the pairs using the codes
given below :

List I
M. K. Gandhi
M. N. Roy
V. D. Savarkar
Deendayal Upadhyaya
List II

Hinduism

(@)
)
(c)
(d)

(1)
2)
3)
(4) Integral Humanism
Codes :

(@)
(A) 3)
(B) (2)
(C) 4)
D) 1)

Radical Humanism
Composite Nationalism

(b)
(2)
3)
(1)
4)

(c)
1)
4)
3)
2)

(d)
4)
(1)
(2)
3)

63.

64.

JUN - 15220/I1—D

TCTeaTd 3IUTeAT A=A 7 A 10T
IR UeH 3Med ?

(A) ST I HIGHHT AR e,
e Sfae, SRS T, o

(B) Ueh TRUATE 3531, HIGYHT, A

IRHT, WHES  To

(C) TTIea M HIGYH FHUR ek,
Ths URUATEl 3591, | SitaHrd]

Y 9 A
(D) Tehdl TEUaTE! So91, WHESH WO,

aES 3faem, o
el feeiean eaharnmal arR & A
el Jeodl
I |
TH. . e
TH. T
fa. 1. e
ESERIGEERI R
RICU i |
’ o
S GPIHIIEERIEIN
(3) wig Iogers
(4) TehIcH HMEIAER
Hehdieh :
(@)
(A )
(B) (2)
C) @
D) (1)

(@)
)
(c)
(d)

(1
2)

(b)
(2)
3)
(1)
4)

(c)
1)
4)
3)
2)

(d)
(4)
(1)
(2)
3)

26



65.

66.

Who wrote the book ‘The High Caste
Hindu Women’ ?

(A) Periyar

(B) Pandita Ramabai
(C) B. G. Tilak

(D) M. K. Gandhi

Why did Pandita Ramabai founded
Arya Mahila Samaj ?

(A)

To ameliorate the downtrodden
women

(B)
(&)

To give assistance to the widows

To prevent child marriages

65.

66.

JUN - 15220/11—D
‘T g™ W g gE’, ¥ gEe ol
fafeett ?
(A) IRER
(B) dfedr T@mEms
(C) <. sit. feosm
(D) WH. . TEd
yfedr e It omd Afgen FHSET
TUAT 1 el ?

(A) doNTedd ForEm=n S=Tddme

(B) fauamn Heq sHiuamdme
(C) e foameren wfdey swIvamE
(D) Fear foemor 39 enfor e

(D) To promote women’s education
and deliverance from the EELIEICN RO STeATa] IS
oppression of child marriage ekl THosuaTHIS
67. Aurobindo’s ideas of revolution were | 67. 3Rfag SHifdfaoaed fTER § Wrelial FEl
based on certain philosophical and T 3T eeATfeer SeeR 30
spiritual foundations such as : >
(@) Sachchidananda or the r\ . -
supreme reality (@) QredaqHg Tohdl Hdled T
(b) Supermind or truth (b) T I3 fohar ol SO
consciousness R o a =
. (c) IUE=AT =l Scshldl
(¢) Evolution as means of
liberating consciousness (d) &I |94q
(d) Autonomous mind Hehdish :
Codes &) (@), (© =T (@)
(A) (@), (c) and (d)
B) (b) smfur
(B) () and (¢) (B) (6] =T ()
(C) (a) and (d) (©) (@) = (d)
(D) (@), (b) and (c) D) (a), (b) 2O (c)
27 [P.T.O.



68.

69.

Mohammed Igbal’s ideas can be

summarized as :

(@) Quest for idealized theocratic

but modern state

®)

Viewing man at the centre of

the scheme of things
(c)

Believed man to be in charge

of dynamism and action

(d) Believed in God’s suzerainty as

the provider, the benefactor, the
judge, the guide and the
beautiful

Codes :

(A) (a), () and (c)
(B) (b), (c) and (d)
(C) (c) and (d)

(D) (a) and (d)

Who among the following was an
early central figure in Vedantic
nationalist conceptualization against
British rule ?

(A) Bankim Chandra
(B) Vivekananda
(C) Dayanand Saraswati

(D) Rabindranath Tagore

68.

69.

JUN - 15220/11—D
Here soad I fomR

fal

et e

GRPT ®9F HiSd 3

(@) ER M GRS GO SAH®
T Iy

(b) TITE HEEAT fHeRT

(c) #q%a B9 Tfaeitad 9 FHfasiia
R LRICIECECIMEREIE]

(d) TTHTET=AT Faled TUMAEREA

RETILH hall, QRSN , AN,

R IRICINICELRICICRCIIEREIR
Hehdieh :
(A) (@), (b) =AM (c)
(B) ), (¢) v (d)
(C) (c) 3 (d)
D) (a) 201 (d)

faSaY fa

fadisl W= fatum IsaRrEt

ST T Feha Tl Higoiel! HewaT

it IO ?
(A) THITEE
(B) faderrq
(C) TG TTEI
(D) fesArg 2R
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70.

71.

Which one of the following options
was not a part of M. N. Roy’s ‘four

classes’ framework in Indian

context ?

(A) The bourgeoisie
(B) Proletariat

(C) Intellectual

(D) Peasantry

Match the pairs using the codes
given below :

List I
(a)
®)
(c)
(d)

Political party
Civil society campaign
NGO
Interest group

List II
(1) All India Kisan Sabha
(2)
(3)

(4)

Save the Smile Foundation
Trinamool Congress

Anna Hazare’s agitation for
Lokpal

Codes :

(a)
(A) )
(B) (2)
(C) ()
D) (2)

)
(4)
(1)
(2)
3)

(c)
(2)
(4)
(3)
(4)

(d)
(1)
3)
(4)
(1)

70.

71.

JUN - 15220/I1—D

TH. TH. A A=A AR SeHidia 9r
ST Tehald Wi TeTdeh! ShY=ET THAY
B e ?

(A) g

(B) ™R o
(C) Ffgstar =
(D) TR o

el HehdIeh=T 9T9R Shed AR SiTSl

S[esdl

RIC |
TSThid 9&
T TES A
TR-TWHR Foe
feqgasht Te

It 11
FfEre A foReE g
9 T TR
(3) JUHSA HIUH
(4) AU TSR
Hehdiah :

(@)

(A) (3)
(B) (@)
€ M
D) @)

(@)
®)
(c)
(d)

(1)
2)

IS SIH

GIERIGRSIRRIE

®)
4)
(1)
(2)
3)

(c)
(2)
(4)
3)
(4)

(d)
(1)
3)
4)
(1)
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72.

73.

74.

Choose the incorrect statement :

(A) Nationalism was the ideological
impetus that over the century

transformed Europe

(B) Nationalism paved the way to

foreign domination

()

In nationalism nation is viewed

with pride and respect

(D) French revolution initiated the

movement towards the modern

nation-state

Who is the author of the book,
“Imagined Communities”, in which

the issue of nationalism is discussed ?
(A) Arnest Gellner

(B) Benedict Anderson

(C) Anthony Smith

(D) Steven Grosby

Mozambique was the colony of which

imperial power ?
(A) Portugal
(B) Spain

(C) Holland

(D) Great Britain

72.

73.

74.

JUN - 15220/I1—D
Weldleh! A fauq ozeEn

(A) AR & STRA A0 3T, S
TehT TR, JRATHE Rqiad T
ATt

(B) TSRS T A H=al el
e et

(C) UeZaRmMed Uxrehs, ' SAfYAH 9
MY’ A1 gfesHgA Wifget ST

(D) 2TYTh TL-TATAT FsdBiel Tha

2N oY
Avdenldliyos eald sl

TeEaRTE =4 U ¢ g hEgfes
T g s fafear ?
(A) L TR

AN e

(B) sHfeR 3f=EA

(C) sttt Ty
(D) Teaq urgst

LY

qigrfoeh & Il WTHTSIaRE] o
R

(A) didme

(B) &=

(C) Wt

(D) T fored
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75.

76.

77.

78.

In which of the following states,
constitutionalism is absent ?

(A) Switzerland
(B) Sweden
(C) Sudan
(D) Sri Lanka

Which among the following is not
the feature of constitutionalism ?

(A) Written constitution

(B) Unlimited rule

(C) Supremacy of constitution
(D) Protection of citizen’s rights

Who is associated with the sentence ?
‘The will of the people is the product
and not the motive power of political
process.’

(A) Robert Dahl

(B) Joseph Schumpeter
(C) Steven Lukas

(D) S. M. Lipset

Who put forth the concept of
‘Circulation of Elite’ ?

(A) Robert Mitchels
(B) Wilfredo Pareto
(C) Gaetano Mosca
(D) C. Wright Mills

75.

76.

77.

78.

JUN - 15220/I1—D

G IO ST [T
FqE AR ?

(A) et
(B) wied
(C) g
(D) #feret

TSEeAER JEiedehl Shivd oS
T ?
(A) foaferd T

(B) 3Tdle el

(C) TI&eT=l Haleddl

(D) SNIGRT= BRIl ER&T0T
R faue St Fed o e ?

‘Rl T TSR T Usharmeiel TRl e
1 Pz fa9 TF IqORA IR’

(A) U <T@

(B) % YR

(C) € g&™

(D) TH. TH. foqde

‘eAfysE SRR & Hehed T Shivft
mEat ?

(A) U fhere

(B) faewrer &

(C) A He=h

(D) 4. = faew
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79. Which among the following is not

80.

81.

the feature of majoritarianism ?
(A)
(B)

It is the rule of majority

The rights of minorities are not
protected

()

All citizens of the state cannot
participate in the political

process
(D) It is an inclusive political system

Which is not a device of a direct
democracy ?

(A) Referendum
(B) Recall

(C) Election
(D) Initiative

Which of the following reasons can
drive people to seek asylum in
another country ? Answer using the
key below :

(@)
)
(c)

(d)
(A)
(B)
()
(D)

Political unrest
Unemployment

Genocide

Displacement due to projects
(@), (b), (c)

(c), (d)

(b), (c), (d)

(@), (c)

JUN - 15220/I1—D

79. TREEAHRARN Y] HIVA AT

80.

81.

AT ?

(A) I SgEEARE Tl T

(B) AV STUESAH=AT THATE G0

BIq e

(C) TSI ANeh TSTohid Ufshaaed
9T 8IS ITohd TRl

(D) B Teh AT TSTeh 9 o€ 378

HIUd YT AT ?

fal

YA ARG
(A) wEEd

(B) W siierert
(C) THereT=

(D) SH-39pH

TTCHeTdeh! IV HRUTHeS e Ge=al
QMG SA1%F |0 Sgeh Biald ? Eedied
Key (&)= S0 &&A SW o ¢

(@) TSThIT STETEd

(b) SIS

(c) aeTo=R

(d) Jeheures Bom foreemad
A) (@), (B), (0

B) (), (d)

(C) (®), (e), (d)

D) (a), (c)
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82.

83.

“Holding the increase in global
average temperatures to well below
2 degree celsius above pre-industrial
levels, nationally determined targets
of decreasing emission levels, focus
on climate resilient development.”

Which climate change treaty has
adopted the above goals ?

(A) Paris Agreement
(B) Montreal Protocol
(C) Bali Accord

(D) Kyoto Protocol

Which of the following pairs is
correctly matched ?

Column I
(Theories of IR)

(@) Realism
(b) Interdependence Liberalism
(¢) Social Constructivism
(d) World System Theory

Column II

(Associated Thinkers)

(1) Peter Katzenstein
(2)
3)
4)
(A)
(B)
(®);
(D)

John Mearsheimer
Robert Axelrod
Immanuel Wallerstein
a—-1

b-2

c—3

d—4

82.

83.
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YT TS A ST ShTde
HTeaTael 2 T HHT 301, e ScSi
HH FIE Tdh I el (e,
TR ETe! faehr’ B e Wretieient

N ) =
ShIUTCT A=l 3Ted 7

(A) 9" R

(B) HifZad Whiet

(C) el TR

(D) =& G

T ST SISl SRIsR edaaiel
e ?

w1
FaEr<g TSR fagia)
(@) dTEIId]
(b) WEREASEE SERATIAE

(c) TN AR
(d) Smfdes =geren fagia
w9 II
st £ )
(1) deX HegeRd
(2) S TR

(3) T IS
4)
(A)
(B)
(&)

(D)

SHIUA ATARETeA
a—1
b-2
c—3
d—4
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84.

85.

86.

87.

Richard Snyder is associated with
which of the following approach/
theory ?

(A) Game Theory

(B) Decision-making Approach
(C) Balance of Power Approach
(D) System Theory

Who is the author of the book
“Diplomacy of Detente” ?

(A) Coral Bell

(B) George Kennan

(C) Henry Kissinger

(D) E. H. Carr

The SALT-I treaty was signed by :
(A) France and Soviet Union

(B) Britain and France

(C) France and US

(D) US and Soviet Union

When did the UN General Assembly
adopt the “Uniting for Peace”

Resolution ?

(A) During the Vietnam War
(B) During the Korean War

(C) During the Arab-Israel War
(D) During the Falklands War

84.

85.

86.

87.
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WU ShIoTCT o2k ATen/ fagiaret

f=e w9 99 Sed 9 ?
(A) B fagm
(B) Trofaufsrmn gftes

(C) FaEgarr gitesd

(D) =awen fagid

et 3 Q! o1 ek el
Ho ?

(A) &NA oA

(B) SIS &

(C) & forfEsr

(D) . THE. &R

ATt RV Qe Hiee-1 IR
el ?

(A) g e wifewa e

(B) fore enfor wrw

(C) ¥ 3fur SRR

(D) SR oAfor Hifewa Jfee
HgF UsieA HESR  ynadwrat
TS’ B ST HET HAHA holl ?

(A) fRTT™ Jgr=A1 @

(B) hIfEA ggr=a el

(C) I-THIA FGT=AT <hledld

(D) HihalUsS FGTAT hiA[d
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88.

89.

Which of the following groups does
not have a free trade agreement
among members ?

(A)
(B)

European Union

India-Brazil-South Africa
(IBSA)

(&)

South Asian Association of
Regional Co-operation (SAARC)

(D)

Who had first proposed the “Atoms
for Peace Plan” in 1953 ?

(A) Richard Nixon

Mercosure

(B) Harry Truman
(C) Dwight Eisenhower
(D) John F. Kennedy

88.

89.
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WCETdhT RO =l HTHIAT
STATIHId Gedl SR FI sherell

T ?
(A) U9 7eEe (EU)

(B) YRA-fsiai-g. 3Tfthedl (IBSA)
(C) 9

(D) AR

“yTTacETer o1 Are’ 1953 HY Shrof
YUH HiSell ?

(A) =€ fea
(B) & T
(C) feae AagRier

(D) S TH el

90. Which of the following is the main | g grfeies! FR e SvRee 31 a0
objective of the Threshold Test Ban
gi\g'q ?
Treaty ? e e
(A) Ban on transfer of space (A) ST TR STUFEAER TeFcies
technology to the non-nuclear QYhe  BEAIAUl HIvIER agf
states .
(B) AN HTTGHHRT THAHT
(B) Ban on transfer of nuclear . . .
QMRS TR FHITAE SQT
technology to non-nuclear states
(C) Ban on nuclear tests having a (C) 100 fowrereTgen sifesk emmd=
yield of more than 100 kilotons Wﬂ'ﬂﬂm E
(D) Ban on u'ndergro.und nuclear D) 150 FrcieTien aifuss amma=n
tests having a yield of more .
than 150 kilotons I SR et
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91.

92.

Assertion (A) :
India is an emerging power.
Reason (R) :

India’s economy has grown
consistently in the twenty-first
century and its influence in the
Indo-Pacific region as well as
broader international affairs has

expanded.
(A) (A) is false, (R) is true
(B) (A) is true, (R) is false

(C) Both (A) and (R) are true, but
(R) is not correct explanation

of (A)

Both (A) and (R) are true and
(R) is the correct explanation

of (A)

Which of the following statements
does not hold true for the Indian
Ocean Naval Symposium (IONS) ?

(D)

(A) It seeks to increase maritime co-
operation among navies of the
Indian Ocean Region.

(B) It has working group on
Humanitarian Assistance and

Disaster Relief.

(C) There are thirty-five members

of this forum.

(D) US, Russia and China are the
members of IONS

91.

92.

JUN - 15220/I1—D
faam () -
IR & T T Tl 3.
Ut (R)

ThH IS JIdehTd YRArE!  STdeaae
A FGTa Sett 318, T4 feg-Uema
AT SN0 =AUF AT Faemd
IRATET YuE foaRen ST

(A) (A) T I 3T, g (R) T TR
3y

(B) (A) ¥ TR 3R, g (R) & I
CIE

(©) (A) & (R) T =) 3TRd, W
(R) & (A) & 3Tk TR R

D) (A) 9 (R) Sr&l sUeR fRd (o

(R) ¥ (A) & 379 TILEHTT 318
WeATeTueht o faem &t TerdmR Jea
T (IONS) =1 sediq ®R el ?

(A) & guear fest aeErR 93
diearmg et wewrd gfgTa

HLOAET TIH  H-

(B) 3 HEEAd HHEdERT ST STIchlet

TG Th e 3TR.
(C) 1 FoeTd T(E 9YEE 3Ted.

(D) e, IRmn oo =i & =1 Seena
TUEE 3T
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93. Which of the following statements | 93. weficiUeh! v fauM sReX ATE ?
is not true ? .
(A) 2005 9T YRd IMEE HahE
(A) India has been attending the .
Fee=1 ferer afteera fiteres woH
Shanghai Co-operation
Organisation Summits (SCO) as en e
an observer since 2005 (B) 9Ra 3mfuor uifersq It S
(B) India and Pakistan started the qghd FeeT=a Ul aeeard
process of full membership of ik 2015 T9 & ot
SCO in 2015 ’
(C) dIfeh&dTen 2017 HY e Heh
(C) Pakistan was given full )
oA U HEHI@ JUA 3T
membership of the SCO in 2017
(D) India was denied the D SRRl SIHETH Tﬁ
membership of the SCO GEHI ARRUA 3T
94. Of which organisations given below | g4 wrefiieiet S o= 9Rd T TH
is India a member ?
[UHE 3R ?
(A) Gulf Co-operation Council
. . (A) T FEHE HEA
(B) Shanghai Co-operation
(C) Association of Southeast Asian ) )
(C) g ST Qe Heed
States
(D) European Union (D) Fadr= g
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95. Which of the following statements

96.

97.

is not true ?

(A) The term ‘BRIC’ was coined in
2001 Goldman Sachs Report for
the then four emerging

economies, Brazil, Russia, India,
China

Foreign Ministers of these four
countries met for the first time
as a group at the margins of
UN General Assembly in
September 2006

BRICS countries have held
annual summits since 2011

(B)

(&)

(D) South Africa entered the group

in 2010

Arrange these countries in the
descending order of the volume of
their trade with India :

(@) Japan

(b) China

) US

(d) Russia

(A) (c), (), (@), (d)

(B) (c), d), (b), (a)

(C) b), (o), (d), (a)

D) (a), (b), (c), (d)

Kaladan Multimodal transport
project is a part of India’s Look East

Policy. Which country is India’s
partner in this project ?

(A) Myanmar
(B) Bangladesh
(C) Nepal

(D) Bhutan

JUN - 15220/I1—D

95. Weteaideh! v foem sleR T ?

(A) for (BRIC) ¥ &= dehleid =X
IEE ASATEAT—FeA, IR,
O, =T-gr=amEet 2001 =40
TiceH Y= STeaTd aTaRett et

(B) o IR I3 TWEHAT 2006 T
SISl YUH Hed

(C) 2011 9rgA foad Iwmen anfsie
ferer aRwer g efmea

(D) 2010 TLA Tieor STfkeRT A1 e
e el

96. eI Q¥ WRARI A=A SR H=

ST HIH TS ¢
(@) SUME

®) =

(c) R

(d) e

(A) (o), (), (@), (d)
(B) (o), (d), (b), (@)
(C) (), (o), (d), (a)
D) (a), ), (©), (d)

97. HacH HAfceHlsd d8d% JHhed @l

TRATAT ol 9@ TeE SR Teh W
3. o1 YehoUld hHIvAl ¥ RATET
G &8 ?

(A) HMER

(B) SR

(C) Ures

(D) Y=
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98.

99.

100.

Trilateral Highway Project is a part
of India’s Look East Policy. Which
two countries are India’s partners in
this project ?

(A) Bangladesh, Myanmar
(B) Myanmar, Thailand
(C) Bangladesh, Nepal
(D) Myanmar, China

Which of the following is not true
about the “SAGAR”—an initiative of
the India ?

(A) It is the acronym of “Security
and Growth for all in the
region”

It a clear, high-level
articulation of India’s vision for
the Indian Ocean

(B) is

(&)

It includes deepening economic
co-operation in the region

(D)

It promotes Indian Ocean as a
zone of peace

Which of the following is not a
feature of India’s
programme ?

(A) Collaboration with US and
Canada in the early period

nuclear

(B) Research on Fast Breeder

Reactors

(C) Refusal to sign the Partial Test

Ban Treaty
(D)

Two nuclear tests, 1974 and
1998

98.

99.

100.
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Sqafi FeMr Yehed 1 YRAr g e
TS M= Teh 9T 3R, 91 Fehedra
FHIUA TH I ARA AFGR 3Ted ?
(A) SR, AR

(B) ™MHR, 9IS

(C) SRS, 9IS
(D) SHER, =

ETATcAh! Shivd faem waren ‘9’

I A SFedid Bl A 2

(A) ‘' ST watet FRen ot ae’’
I 9 Gy ®Y TR

(B) f&<t memmfawEi=n gt
g, Sea-Wid ARl 31

(C) yrefyrer offefer wegetd wieTex
AU I GHE 3T

(D) @™y oS AeErFRET wade &5

TUH R Hell 38
TeTeTdeh! ShIv Af¥TSST YRAT=T 379
FEiEAe AT @ ?

(A) GEardr=ar ohlerd 3THTGRT 3TTfUT

SR Hghd

(B) ®RE SEX STU[HIER HeNeH
(C) waifed ==l s& R
(D) 1974 37U 1998 WY TF ST
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